Контрольная работа № 1 для обучающихся I курса заочного отделения
(направление подготовки «История»)
The Wars of Independence
The death of king Alexander III in 1286, and the death of his granddaughter and heir Margaret, Maid of Norway in 1290, left 14 rivals for succession. To prevent civil war the Scottish magnates asked Edward I of England to arbitrate, for which he extracted legal recognition that the realm of Scotland was held as a feudal dependency to the throne of England before choosing John Balliol, the man with the strongest claim, who became king in 1292.[34]Robert Bruce, 5th Lord of Annandale, the next strongest claimant, accepted this outcome with reluctance. Over the next few years Edward I used the concessions he had gained to systematically undermine both the authority of King John and the independence of Scotland.[35] In 1295 John, on the urgings of his chief councilors, entered into an alliance with France, known as the Auld Alliance.[36]
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Edward I of England, 'Hammer Of The Scots', depicted on a late-15thC woodcut.
In 1296 Edward invaded Scotland, deposing King John. The following year William Wallace and Andrew de Moray raised forces to resist the occupation and under their joint leadership an English army was defeated at the Battle of Stirling Bridge. For a short time Wallace ruled Scotland in the name of John Balliol as Guardian of the realm. Edward came north in person and defeated Wallace at the Battle of Falkirk (1298).[37] Wallace escaped but probably resigned as Guardian of Scotland. In 1305 he fell into the hands of the English, who executed him for treason despite the fact that he owed no allegiance to England.[38]
In 1326, what may have been the first full Parliament of Scotland met. The parliament had evolved from an earlier council of nobility and clergy, the colloquium, constituted around 1235, but perhaps in 1326 representatives of the burghs — the burgh commissioners — joined them to form the Three Estates.[46][47] In 1328, Edward III signed the Treaty of Northampton acknowledging Scottish independence under the rule of Robert the Bruce.[48] However, four years after Robert's death in 1329, England once more invaded on the pretext of restoring Edward Balliol, son of John Balliol, to the Scottish throne, thus starting the Second War of Independence.[48] Despite victories at Dupplin Moor and Halidon Hill, in the face of tough Scottish resistance led by Sir Andrew Murray, the son of Wallace's comrade in arms, successive attempts to secure Balliol on the throne failed.[48] Edward III lost interest in the fate of his protégé after the outbreak of the Hundred Years' War with France.[48] In 1341 David II, King Robert's son and heir, was able to return from temporary exile in France. Balliol finally resigned his claim to the throne to Edward in 1356, before retiring to Yorkshire, where he died in 1364.[49]

Задание:
1. Прочитайте текст и письменно переведите его.
1. Выпишите из текста существительные в единственном числе, поставьте их в форму множественного числа и переведите.
1. Выпишите из текста интернациональные слова.
1. Выпишите из текста слова, относящиеся к вашей специальности и переведите.
1. Выпишите из текста все неправильные глаголы, запишите их основные формы и переведите.
1. Выпишите из текста 10 предложений в Present Indefinite , употребите каждое в Past Indefinite и Future Indefinite и переведите их.
1. Выпишите из текста одно предложение и составьте к нему 5 типов вопросов.
1. Напишите следующие предложения в вопросительных и отрицательных формах.
1. I know French perfectly. 2) There is a big parade today. 3) There are two lamps in the room. 4) She makes mistakes in spelling. 5) They live on Kiev. 6) There was a very interesting lecture last Monday. 7) There were few passengers in the compartment. 8) They stayed in Moscow all summer. 9) Ann passed all her examinations. 10) The plane lives at 10 o’clock.
1. Переведите следующие предложения на английский язык, обращая внимание на образование степеней сравнения прилагательных.
1. Мой компьютер не такой новый, как компьютер моего друга.
1. Наши экзамены гораздо труднее, чем ваши.
1. Невский проспект – одна из самых красивых улиц Санкт-Петербурга.
1. Кто самый младший в нашей группе?- Иванов. Но он самый высокий.
1. Крым – одно из самых лучших мест для отдыха.
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